SRO3 am

@ CE compliance

= -
SR03-S g s

SRO3-R

SR03-

$2

(motor installed on top)

Note 1. See P.337 for grease gun nozzles.
Note 2. If changing from the origin position at the time of

reset. For details, refer to the manual.

M Basic specifications M Speed vs. payload

Motor 42 [] Step motor
Resolution (Pulse/rotation) 20480
Repeatability (mm) +/-0.02
Deceleration mech Ball screw ¢8
Ball screw lead (mm) 12 6
M m speed V' (mm/sec) 500 250
Maximum [Horizontal 10 20
payload (kg) | Vertical 4 8
Max. pressing force (N) 75 100
Stroke (mm) 50 to 200 (50pitch)
Lost motion 0.1mm or less
Rotating backlash (°) +/-1.0

Overall length[Horizontal

Stroke+236.5

(mm) | Vertical

Stroke+276.5

Maximum outside dimension
of body cross-section (mm)

W48 x H56.5

Cable length (m)

Standard: 1/ Option: 3, 5, 10

Note 1. The maximum speed n

eeds to be changed in

accordance with the payload.
See the “Speed vs. payload” graph shown on the right.

For details, see P. 336.

M Motor installation (Space-saving model 0

|

Robot positioner 1o

Note 3. The robot cable is flexible and resists bending.
Note 4. See P.600 for DIN rail mounting bracket.
purchase, the machine reference amount must be  Note 5. Select this selection when using the gateway

Brake “ Bracket plate | ~[CEPPIPTERR | [s2.TS-S2%c+ | INP:NPN
S: Straight model N: With no brake| 50 to 200 1K: im PN: PNP
R:Space-saving model Mot 1 | - [B: With brake Z: Non-motor side | |H: With plate | |(50mm pitch) | [3K: 3m [CC: CC-Link
(motor installed on right) \V: With flange 5K: 5m DN: DeviceNet™
L: Space-saving model Note 1 10K: 10m EP: EtherNet/IP™
(motor installed on left) PT: PROFINET
U: Space-saving model| Note ! IGW: No 1/0 boardes

function.

25

N
S}

Lead 6

a

\

=)

Lead 12

Payload (kg)

\

o o

o

100 200 300 400 500 600

Speed (mm/s)

Lead 6

Payload (kg)

O-2NWROTON®O
J//
o
N

0

100 200 300 400 500 600
Speed (mm/s)

SR03 Straight model @»

A
See Note 5. *9.‘3

Robot positioner
SH: TS-SH

INP: NPN B: With battery
PN: PNP (Absolute)
ICC: CC-Link N: None

DN: DeviceNet™ [(Incremental)

EP: EtherNet/IP™
PT: PROFINET
IGW: No I/0 boards

1/0 cable
SD: TS-SD 1: 1m
M Running life

5000 km on models other than shown below.
Running life of only the model shown below becomes shorter than 5000 km
depending on the payload, so check the running life curve.

 Vertical } Lead 12]

6000
E 5000
= =] o
= 4000 Z3
£ >3 0
= 3000 Z29
2 2000 @ %3
€ Note. See P.337 =383
E] 1000 for running life =g
distance to life time O

Pay|ozad (kg) 8 conversion example.

Controller | Operation method Controller | Operation method
TS-S2 1/0 point trace / TS-SD Pulse train control
TS-SH Remote command

Ball screw greasing port (¢6.5)

Note 4.

h - | 1T
1 @ o @) RS-
i >5)
Approx. 250 (Cable length) (10) 275 5
r . =
— 7.5 (Width across flat part) &
ﬁ/:_ " M8x1.25 < 4-M3x0.5 Depth 10
I T E= ° (90°-equal division)
e a8l g
1 == S| -
4 - © - {:‘B
o o]L® 0 ¥
M4x0.7 Depth 5/ |1o| ™ L1 Origin on 8
(For securing cable) - L motor side,/ Orig )
" " rngin on
10 L+40 (with brake) 37.5+/-2 | Effective stroke, non-motor side )
[ (5% 1
4 Q(‘) 35 (Width across flat)
~
o — 4 A
5 13 Msx1.25 f
Nig a 2 BX=)
A — —» 3 +
M4x0.7 Depth 5
o (For securing cable) ‘ 50 ‘
2 Hx50 41
Dimensions of attached nut View A K:-M3x0.5 Depth 4
Option: Horizontal installation plate (foot) Option: Vertical installation plate (flange)
* Contents of option: Plate, 2 pcs. Effective stroke| 50 100 | 150 | 200
See our robot manuals for additional settings. Hex. socket head cap bolt (M3x0.5), L1 161 | 211 | 261 | 311
. Length under head 14 L 249 | 299 | 349 | 399
% AL H 2 3 4 5
)_ o [Clomel® K 6 | 8 | 10 | 12
i ? - AN iﬁ" j Weight (kg) "7 | 11 13 | 14 | 16
4 QY
} i Note 1. Itis possible to apply only the axial load.
15 T 45 h . .
;’W Hex. socket head cap bolt (M3x0.5), Length under head 10 Ed(37_5) 4-94.5 LTJ ;J:slg\:lzxtt:em;ldgunde together so that any radial load is not
@}/ " Two boits are required for one plate. drill-through Note 2. The orientation of the width across flat part is undefined to the
61 base surface.
o g | %E Note 3. Use the support guide together to maintain the straightness.

(
tka °

(41)
* See the bottom i

2-05.5

nstallation tap position.

TS-S2 » 592[ TS-SH » 592 TS-SD » 602]

When running the cables, secure cables so that any load is not
applied to them.

Remove the M4 hex. socket head cap set bolts and use them
to secure the cables. (Effective screw thread depth 5)

The cable’s minimum bend radius is R30.

Models with a brake will be 0.2kg heavier.

Distance to mechanical stopper.

Note 5.

Note 6.
Note 7.
Note 8.

345 mw




SR03 Space-saving model (motor installed on right)

Approx. 245 (Cable length)

128 (with brake)

=] |- Ball screw greasing port ($6.5)

(15)

=
1)

42

94

Option: Horizontal installation plate (foot)

* Contents of option: Plate, 2 pcs.
See our robot manuals for additional settings.

Hex. socket head cap bolt (M3x0.5),
Length under head 10

15
1 /*Two bolts are required for one plate.
)
¢
- :a|$ 3
o
2-45.5 ®
drill-through 41)

* See the bottom installation tap position.

T
| o s

M8x1.25 13 5
e B
Origin on Originon . .
motor side non-motor side D of
95 685 {7(Note 8)) F[(5(Note 8) attached nut
. X ote e
L 37542
See Note 5 Effective stroke =
g
S| |20
b1 O
S— SERE
S MBx125  SiE =
I L e —T——— R g o
= S|
o] i 75 o
M4x0.7 Depth 5 8118 | (Width across flat part) '
(For securing cable) /0| 4-M3x0.5 Depth 10
\AX0.7 Deoth 5 10 T (10) 27.5 (90°-equal division)
x0. L] )
(For securir?g cable) Hx50 41 11(Width across flat)
50 35 48
L *
e e e = &l Effective stroke] 50 | 100 | 150 | 200
Ex L1 161 | 211 | 261 | 311
p S K-M3~0.5 Depth 4 L 204 | 254 | 304 | 354
i | H 2 3 4 5
| K 6 | 8 | 10| 12
e Weight (kg)"™*"| 13 | 15 | 16 | 1.8

Option: Vertical installation plate (flange)

Hex. socket head cap bolt (M3x0.5),

Length under head 14

SR03 Space-saving model (motor installed on left)

M4x0.7 Depth 5
=  (For securing cable)

27

See Note 5.

10] 5 g | 42
(37.5) | drill-through, 55

<
@

5

A
4

9.5 68.5

Note 1.Itis possible to apply only the axial load.
Use the external guide together so that any radial load is
not applied to the rod.

Note 2.The orientation of the width across flat part is undefined to
the base surface.

Note 3.Use the support guide together to maintain the straightness.

Note 4.When running the cables, secure cables so that any load is
not applied to them.

Note 5.Remove the M4 hex. socket head cap set bolts and use
them to secure the cables. (Effective screw thread depth 5)

Note 6. The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

Ball screw greasing port ($6.5)

<ER
[ =5

M8x1.25 13 5

Origin on Origin on -
View A motor side nor?—motor side 2
W Dimensions of attached nut
128 (with brake) (7(Note 8)) | |(5(Note8) ~—
(40) (24) Approx. 245 (Cable length) L ! 37.54-2
Effective stroke F|
g
D - = G-[
M8x1.25 = S
©
o 0| —
8 fogr—— T E = L =3
o~
94 7.5 11
T — 818 |(Width across flat part) Width
E i (10) 275 ?ém3*0-5|%99‘h 12 35  [across flat)
- —r—— -equal division,
Option: Horizontal installation plate (foot)
k - K-M3x0.5 Depth 4
* Contents of option: Plate, 2 pcs. m &2 Effecti troke| 50 100 | 150 | 200
See our robot manuals for additional settings. & =+ Z CEIOBIELE
P | 12— R g‘,] [ 161 | 211 | 261 | 311
ES & L 204 | 254 | 304 | 354
) 3 M4x0.7 Depth 5 s 80| H 2 | 3] 415
I = (For securing cable) K 6 8 10 12
B e 10 L Weight (kg)"™™7| 1.3 | 15 | 16 | 1.8

Hex. socket head cap bolt (M3x0.5),
15 Length under head 10

* Two bolts are required for one plate.

L0|N<r
©

2-¢5.5
drill-through (41)
* See the bottom installation tap position.

346

Option: Vertical installation plate (flange)
Hex. socket head cap bolt (M3x0.5),

Length under head 14

=]

24
34

=l

I

(37.5)

4-04.5
drill-through

Note 1.1t is possible to apply only the axial load.
Use the external guide together so that any radial load is
not applied to the rod.

Note 2. The orientation of the width across flat part is undefined to
the base surface.

Note 3.Use the support guide together to maintain the straightness.

Note 4.When running the cables, secure cables so that any load is
not applied to them.

Note 5.Remove the M4 hex. socket head cap set bolts and use
them to secure the cables. (Effective screw thread depth 5)

Note 6.The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

RN TS-S2 » 592 [ TS-SH » 592 [ TS-SD » 602 |




SR03 Space-saving model (motor installed on top)

M4x0.7 Depth 5 Approx. 245 (Cable length) 37.5+-2 Effective stroke (5(Note 8))
(For securing cable) ~ 10_ 115 Ball screw greasin t- Originon | | Origin on
) port (¢5,5)g 9 (T(Note )\ motor side\\_non-motor side
=
T
— I == A E— ””E@*’H—' M8x125 13 5
1 .
View A 7 @ g
Dimensions of attached nut
(15)
128 (with brake) 56.5
48
88 21
g 21
1° q
Oy -
gl oln| @ &
3 — M8x1.25 “le 3
. & =)
e — By s ! o
< — BA =4
o] [/ o[ 175 S 8
- 42 3| 18 |(Width across flat parf) j
[\é4><0.7 Depth 5bI ) o] 4-M3x0.5 Depth 10
or securing cable X ivisi
Option: Horizontal installation plate (foot) g (10) 27.5 %MM&T)O
— o idth across fla
* Contents of option: Plate, 2 pcs. % T>\ _ K-M3x0.5 Depth 4 35
See our robot manuals for additional settings. ) ‘ % E3 ¥
@#T—w ———— T — e g
| S S
N . T—7 1 t— =0 Effective stroke| 50 150 | 200
& M4x0.7 Depth & Hx50 4 L1 161 261 | 311
T B (For securing cable) ho 1 L 204 304 | 354
Hex. socket head cap bolt (M3x0.5), H 2 3 4 5
15 Length under head 10 Option: Vertical installation plate (flange) K 6 8 10 12
* Two bolts are required for one plate.
& Hex. socket head cap bolt (M3x0.5), Weight (kg)"“*"| 1.3 | 1.5 | 1.6 | 1.8
&= Length under head 14 s c |

\
25
52
64

% ‘

2955 LP
drill-through

1)
* See the bottom installation tap position.

TS-S2 > 592 TS-SH » 592 TS-SD » 602

Note 1.1t is possible to apply only the axial load.

O o6 % K3 Use the external guide together so that any radial load is not applied to the rod.
— - —1—F — & g[ - - Note 2.The orientation of the width across flat part is undefined to the base surface.
) ol E{ L@ - Note 3.Use the support guide together to maintain the straightness.
~— " Note 4.When running the cables, secure cables so that any load is not applied to them.
]_OJ 4-4.5 45 Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the cables.
(37.5) | drill-through 55 (Effective screw thread depth 5)

Note 6.The cable’s minimum bend radius is R30.
Note 7. Models with a brake will be 0.2kg heavier.
Note 8.Distance to mechanical stopper.

347




O]
o
g
°
53
E

[}
=
a
@
1]
X
@
g
@

—
=
>
4
w
=
<
(=}

348

@ CE compliance

SRD03-S

SRD03-

S: Straight model

06: 6mm

U: Space-saving model Note !
(motor installed on top)

Note 1. See P.337 for grease gun nozzles.

Note 2. If changing from the origin position at the time of

[B: Withbrake | [Z: Non-motor side| |H: With pl

SRD03-U

Brake Bl Origin position [ Bracket plate [ B Cable length “ot®
N: With no brake| |N: Standard M2 | |N: No plate 50 to 200 :
late (50mm pitch) :

Note 3. The robot cable is flexible and resists bending.
Note 4. See P.600 for DIN rail mounting bracket.

purchase, the machine reference amount must be Note 5. Select this selection when using the gateway

reset. For details, refer to the manual.

function.

M Basic specifications M Speed vs. payload

Robot positioner
SH: TS-SH

ICC: CC-Link

DN: DeviceNet™

EP: EtherNet/IP™

PT: PROFINET

IGW: No /O board"es

INP: NPN B: With battery
PN: PNP (Absolute)
ICC: CC-Link N: None

DN: DeviceNet™

((Incremental)

Motor 42 [J Step motor [ Horizontal J ED: Etherflot P70
Resolution (Pulse/rotation) 20480 25 GW: No I/0 boardes
Repeatability (mm) +-0.02 2 Lead® sD 1
Deceleration mechanism Ball screw ¢8 o 15 \
Ball screw lead (mm) 12 6 E Lead 12 1/0 cable
Maximum speed ***' (mm/sec) 500 250 210 \ SD: Ts-SD 1 1m
©
bavmaTia) [ Vertioal 38 s
payload (kg) Vertical 3.5 75 0 | B Running life
: 5000 km on models other than shown below.
Max. fi N 75 100
axipressinglforcel(N) - 0 100 200 300 400 500 60O Running life of only the model shown below becomes shorter than 5000 km
Stroke (mm) 50 to 200 (S0pitch) Speed (mm/s) depending on the payload, so check the running life curve.
Lost motion 0.1mm or less Vertical
Rotating backlash (°) +/-0.05 8 6000
Overall length| Horizontal Stroke+236.5 ; \ Lead6 T 5000
(mm) Vertical Stroke+276.5 25 \\ f{ 4000
Maximum outside dimension B4 = 3000
s acti W48 x H56.5 < [————_  lead12 o
of body cross-section (mm) : % 3 \ C £ 2000 Note. See P.337
Cable length (m) Standard: 1/ Option: 3, 5, 10 a 2 \ C £ 1000 for running life
Note 1. The maximum speed needs to be changed in ; | N T o 5 > = distance to life
accordance with the payload. 0 100 200 300 400 500 600 Payload (kg) time conversion
See the “Speed vs. payload” graph shown on the right. Speed (mmis) example.
For details, see P. 336. . controller
Controller | Operation method Controller | Operation method
TS-S2 1/0 point trace / TS-SD Pulse train control
TS-SH Remote command
SRDO03 Straight model @&
Effective stroke+78
35.5
See Note 3. A WTer—r——— =_=
¥ Slel‘i E——— =
— E 0|
i B V 1 ®
| i ==
— | i 1. o
T Ball screw ®
reasingport | ——— |
Approx. 250 (Cable length) a5 885 =
{ 97  8-Md4x0.7 Depth 10
23__23 23 (For user tool installation)
o——1 10 18 @ I 4-M4x0.7 drill-through
—/:_4 T S (D) (For main unit installation)
() @ © N e + . . I A A—
u"; E — ‘_‘=F T \ © & O 10 T Jd e
/) |= E — | T 8| @'7’@’ a bR
S I I S NS S
Fow oW = —_—
M4x0.7 Depth 5 L ‘ ‘u‘" @’L* -
48 0.7 Dep 10, L1 Origin on 35
(For securing cable) L motor side / 83
L+40 (with brake) 37.5+/-2| Effective stroke Origin on 105
. non-motor side
——— |
g 10
=
F— o + * _) N
g —
N . . N — 9 & @ N
Option: Horizontal installation plate (foot) ﬁ
* Contents of option: Plate, 2 pcs. K-M3x0.5 Depth 4 | = M4x0.7 D_emh 5
See our robot manuals for additional settings. = ) (For securing cable)
50 = View A
_ Hx50 41 —
Y Effective stroke| 50 | 100 | 150 | 200
| = L1 161 | 211 | 261 | 311
= ° L 249 | 299 | 349 | 399
 __ H 2 3 4 5
— |
L & H K 6 8 10 12
& Weight (kg) “°*| 15 | 1.7 | 1.9 | 21

a5
ga=r

e

2-¢5.5 1

52

Hex. socket head cap bolt (M3x0.5), Length under head 10

Note 1.Itis possible to apply only the axial load.
Use the external guide together so that any radial load is not applied to the rod.

Note 2.When running the cables, secure cables so that any load is not applied to them.

Note 3.Remove the M4 hex. socket head cap set bolts and use them to secure the cables.
(Effective screw thread depth 5)

(41)
* See the bottom installation tap position.

* Two bolts are required for one plate.

Note 6.Distance to mechanical stopper.

TS-S2 » 592[ TS-SH » 592 TS-SD » 602]

Note 4.The cable’s minimum bend radius is R30.
Note 5.Models with a brake will be 0.2kg heavier.



SRDO03 Space-saving model (motor installed on top)

Approx. 245 (Cable length)

M4x0.7 Depth 5
(For securing cable) .1%,
View A
\
|
3 \
el | L&
J I \y A
kx| | ¥4
N 2

* Contents of option: Plate, 2 pcs.
See our robot manuals for additional settings.

=l

Hex. socket head cap bolt (M3x0.5),
Length under head 10
15 * Two bolts are required for one plate.

St

2-55 .
drillthrough/ L_(41)
* See the bottom installation tap position.

A
Q L 37.5+-2_Effective stroke _(5(Note 8))
11.5 (7(Note 8)) | ~ Origin on B )
. = motor side| | Origin on non-motor side
Ball screw greasing port i, T
(96.5) T
e —— Yol
T ™
41 | M — 1 . I s N
1= -
1 i
S *’j’f e
© 0| L
355 [10] [18 ]
Effective stroke+78 56.5

<]

53

-
7777777 %,77717777
[ o

122 |
27
30
35

21

M4x0.7 Depth 5

(For securing cable)

©,

fo]

—

4-M4x0.7 drill-through
(For main unit installation)

8-M4x0.7 Depth 10
For user tool installation

L e e
M4x0.7 Depth 5 —
(For securing cable) KM3x05 pme ] - |
Depth 4 — —
50 —
Hx50 41
10 L1
Eff v rok 1 1 2 Note 1.1t is possible to apply only the axial load.
ective stroke | 50 00 50 00 Use the external guide together so that any radial load is not applied to the rod.
L1 161 | 211 | 261 | 311  Note 2.The orientation of the width across flat part is undefined to the base surface.
L 204 254 4 4 Note 3.Use the support guide together to maintain the straightness.
0 5 30 35 Note 4.When running the cables, secure cables so that any load is not applied to them.
H 2 3 4 5 Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the
K 1 12 cables. (Effective screw thread depth 5)
- Note7 6 8 0 Note 6.The cable’s minimum bend radius is R30.
Weight (kg) 1.7 1.9 2.1 2.3 Note 7.Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

TS-S2 » 592 | TS-SH » 592 TS-SD » 602 | 349




SR04 e

@ CE compliance @ Origin on the non-motor side is selectable: Lead 6, 12

Cable length "ete4 S2: TS-S2 Notes INP: NPN

m— m Brake il Origin position “**2 & Bracket plate [
S: Straight model N: With no brakel : 1K: 1m IPN: PNP
R:Space-saving model Noe ! \B: With brake |Z: Non-motor side| |H: Wil 3K: 3m ICC: CC-Link
(motor installed on right) 5K: 5m IDN: DeviceNet™
L: Space-saving model Note ! 10K: 10m [EP: EtherNet/IP™
(motor installed on left) IPT: PROFINET
Note 1. See P.337 for grease gun nozzles. Note 4. The robot cable is flexible and resists bending. (GW: No I/0 board'?
Note 2. When “2mm lead” is selected, the origin position ~ Note 5. See P.600 for DIN rail mounting bracket.
cannot be changed (to non-motor side). Note 6. Select this selection when using the gateway B SH u
Note 3. If changing from the origin position at the time of function. - _
purchase, the machine reference amount must be " Lo
" [SH: TS-SH INP: NPN IB: With battery
reset. For details, refer to the manual. PN: PNP (Absolute)
H ifi H ICC: CC-Link IN: None
H Basic specifications H Speed vs. payload DN DevioeNat™ (Incremental)
Motor 42[] Step motor [ Horizontal ] g.Pl_f FE’QSLTS‘E”TP ™
Resolution (Pulse/rotation) 20480 50 GW: No /O board:¢
Repeatability (mm) +/-0.02 20— Lead 2
Deceleration mechanism Ball screw ¢8 |Ball screw ¢10 ° L
Ball screw lead (mm) 12 6 2 30 \ Lead 6 SD 1
Maximum speed "o Isec) 500 250 80 3 N\ Robot driver 1/0 cable
Maximum  [Horizontal| 25 40 45 2 Qad 12— M H
payload (kg) | Vertical 5 12 25 Q49
Max. pressing force (N) 150 300 600 0 \
Stroke (mm) 50 to 300 (50pitch) 0 100 200 300 400 500 600 5 7
Lost motion 0.1mm or less Speed (mm/s) || Running life
Rolatinglhacklashi(g) S +/-1.0 30 5000 km on models other than shown below.
Overall length } Hoczm.lta: Stroteiggg 25 Lead2—— 1 Running life of only the model shown below becomes shorter than 5000 km
;n";:i'r)"um outside dim:r:;li(;: troke 220 ‘ depending on the payload, so check the running life curve.
of body cross-section (mm) W48 x H58 B1s Lead 12
Cable length (m) Standard: 1/ Option: 3, 5, 10 =10 \ lLead6 6000 6000
@ P —
;é Note 1. The maximum speed needs to be changed in o \ Lead 12 E£5000 £5000
E [ accordance with the payload. o 2 4000 \\ 2 4000)
£3 See the “Speed vs. payload” graph shown on the right. = =
wn < 0 100 200 300 400 500 600
Ee8 For details, see P. 336. Additionally, when the stroke Spead (mmis) 3000 X 23000
= g— b is long, the maximum speed is decreased due to the I 2000 '€2000
O & critical speed of the ball screw. See the maximum £ 1000 & 1000
speed table shown at the lower portion of the drawing. 0 o
0 10 15 20 25 2 3 4
Payload (kg) Payload (kg)

Motor installation (Space-saving model)

Note. See P.337 for running life distance to life time conversion example.

R [ MController |
'/ 7 ~

Controller | Operation method Controller | Operation method
TS-S2 1/0 point trace / TS-SD Pulse train control
TS-SH Remote command
SR04 Straight model @»
A
) M4x0.7 Depth 5 95
o See Note 6. 3.5 67.5 Ball screw greasing port (¢6.5) (For securing cable)\ T T
H é )
= @ R &
’ ) i 3]
— ©
Approx. 250 (Cable length) 10) 325
L 9 22 |
| I .
8.5 (Width flat part
@EE _/ — idth across flat part)
Z T  M10x1.25
o1
W=
B I 83
M4x0.7 Depth 5 r’ =
~curi = @) (5) Width
F I - . e (Width across
(For securing cable) g, L1(T-slot range) Origin on T-slot for M3 (8 locations) flat)
L molor side Qrigin on non-motor side (Note 4)
L+40 (with brake) 42.5+/-2 | Effective stroke | ="
2.4 @ 6 17_ M10x1.2!
Option: Horizontal installation plate (foot) Option: Vertical installation plate (flange) ar 2 = gy GX 5
* Contents of option: Plate, 2 pcs., Nut, 12 pcs. Hex. socket head cap bolt (M4x0.7), B B 9—"
See our robot manuals for additional settings. Length under head 14 M3x0.5 =
Dimensions of attached
J4 = S ) square nut for T-slot (6 pcs.) Details of T-slot Dimensions of attached nut
] 2 g[—f—@—*i
— @
) - 1 N Effective stroke 50 | 100 | 150 | 200 | 250 | 300
PQJ 60 L1 162.5|212.5|262.5|312.5|362.5|412.5
(42.5) | 4-06.6 73 L 270.5|320.5|370.5|420.5|470.5 | 520.5
2;06_-6\ Inst_alled_twithin the T-slot range of the s : : : : : .
main unit. i ote
Hex. socket head cap bolt (M3x0.5), We.lght (ko) 14 ] 17 | 19 | 22 | 24 | 27
Length under head 10 Maximum |Lead 12 500 440 | 320
*Six bolts are required for one plate. speectl fol: each’| 46 250 220 | 160
I stroke
58 —— > = (=] (mmisec) |Lead 2 80 72 | 53
- Note 1.Itis possible to apply only the axial load.
@ Use the external guide together so that any radial load is not applied to the rod.

Note 2.The orientation of the width across flat part is undefined to the base surface.

Note 3.Use the support guide together to maintain the straightness.

Note 4. For lead 2mm specifications, the origin on the non-motor side cannot be set.

Note 5.When running the cables, secure cables so that any load is not applied to them.

Note 6.Remove the M4 hex. socket head cap set bolts and use them to secure the cables. (Effective screw thread depth 5)
Note 7. The cable’s minimum bend radius is R30.

Note 8.Models with a brake will be 0.2kg heavier.

Note 9.Distance to mechanical stopper.

w350 TS-S2 » 592 TS-SH » 592 | TS-SD » 602




SR04 Space-saving model (motor installed on right)

Approx. 245 (Cable length) L 42.5+-2  Effective stroke_(5(Note 8))
\ 152 (with brake) ‘ (T(Note 8)
Origin on Origin on
motor side| \_non-motor side (Note 9)
58 M10x1.25
33 6
)
i TTE
o= —— i ————— HRED--EE il of section B Dimensi
(40) (24) ﬂl ”JJE Detail of section B T 'nﬁtor
See Note 5, Ball screw < S 56
67.5 greasing port (¢6.5) gl T-slot for M3
g (8 locations)
.5 L1(T-slot range) £
. =
=
ll MiOx125 =
el
3 | R — TR 8 99 -
w ¥
g‘l :é 85 | B
)
100 0.5 M4x0.7 Depth 5 — %\glt\(;?ne;cross 14 I Depth 10
(For securing cable) / | 9.5 (10) 325 (Width across 25 (90°-equal
Max0.7 Deoth 5 flat) division)
x0.7 Dep! 28
(For securing cable) 9.5 ) M3x0.5 24 45 48
Option: Horizontal installation plate (foot) i ("<\ = 102.5
* Contents of option: Plate, 2 pcs., Nut, 12 pcs. , = —
See our robot manuals for additional settings. of hl Di ions of attached Effective stroke 50 | 100 | 150 | 200 | 250 | 300
square nut for T-slot (6 pcs.) L1 162.5|212.5|262.5|312.5|362.5|412.5
EZ@»? L L 209.5|259.5|309.5|359.5|409.5|459.5
2 Weight (kg) "’ 16 | 19 | 21 | 24 | 26 | 29
&
il S T —— Maximum |Lead 12 500 440 | 320
on: cal installation plate (flange]
:r’l‘sta\led wkithirr: thde T-skgt r‘a?’\%%oétg)e main unit. = Gl Ll —— spee;:::l:eea‘:h Lead 6 250 220 160
2-06.6 lex. socket head cap bolt (M3x0.5), Hex. socket head cap bolt (M4x0.7),
drill-through 2?0 I:en_gth under head 10) (42.5) Length under head 14 73 (mmisec) |Lead?2 8o 72 53
-~/ " Six bolts are required for one plate. ho 4-06.6 Note 1. It is possible to apply only the axial load.
| drill-through Use the external guide together so that any radial load is not applied to the rod.
- [ — Note 2. The orientation of the width across flat part is undefined to the base surface.

Note 3.Use the support guide together to maintain the straightness.

Note 4.When running the cables, secure cables so that any load is not applied to them.

Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the
cables. (Effective screw thread depth 5)

Note 6.The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

Note 9. For lead 2mm specifications, the origin on the non-motor side cannot be set.

Note 10.This unit can be installed with the motor facing up (turned 90 degrees from

the position in this drawing).

(=
L 3 oy
— <t O
@
o~ ™.
a 1D+

SR04 Space-saving model (motor installed on left)

A
M4x0.7 Depth 5 9.5 ) Approx. 245 (Cable length) v L 425412 _Effective stroke_(5(Note 8))
(For securing cable) oo 95 L1(T-slot range)
(7(Note 8)) | Origin on Origin on
- Note 5. 67.5 Ball screw greasing motor side L non-motor side (Note 9)
& port (¢6.5)
=yl o} = = —
I | - . ) N —— . - -
— cl -
View A a - M10x1.25 17 6 33 b8
5 -
=
(40) (24) . " g . .
= == f Detail of B
2 o nut etail of section Teslt for M3
_ 152 (with brake) (8locations)
)
{ 5 M10x1.25 <
© 2
: T et O]
8.5 QO Al
05 100 ) 9| 20 |Widthacross 2| | 4-M4x0.7
© M4x0.7 Depth 5 flat part) Depth 10 (Width across fit)
(For securing cable) 9.5 (90°-equal 25
) S MB05 4 (10) 325 division) T
* Contents of option: Plate, 2 pcs., Nut, 12 pcs. i <\ ) 48 J 45
See our robot manuals for additional settings. , = 102.5
I A
“r Dimensions of attached Effective stroke 50 | 100 | 150 | 200 | 250 | 300
% square nut for T-slot (6 pes) L1 162.5|212.5|262.5|312.5|362.5| 412.5
ﬁ L 209.5|259.5|309.5|359.5|409.5|459.5
Iy Weight (kg) Note? 1.6 1.9 241 2.4 2.6 29
e Maximu Lead 12 500 440 | 320
Installed within the T-slot range of the main unit. Hex. socket head cap bolt (M4x0.7), spees({rfglz':ach Lead 6 250 220 | 160
2-06.6 20 (Hex. socket head cap bolt (M3x0.5), Length under head 14 (mmisec) [Lead 2 80 72 53
drill-through | 10| I:er?gm under head.WO) Note 1.1t is possible to apply only the axial load.
| Six bolts are required for one plate. Use the external guide together so that any radial load is not applied to the rod.
10, Note 2.The orientation of the width across flat part is undefined to the base surface.
] Note 3.Use the support guide together to maintain the straightness.

Note 4.When running the cables, secure cables so that any load is not applied to them.

Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the
cables. (Effective screw thread depth 5)

Note 6. The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

Note 9.For lead 2mm specifications, the origin on the non-motor side cannot be set.

Note 10.This unit can be installed with the motor facing up (turned 90 degrees from the

position in this drawing).

7

HeEo g)s

TS-S2 » 592[TS-SH » 592 TS-SD » 602 351




—
=
>
4
w
=
<
(=}

[}
=
a
@
1]
X
@
g
@

O]
o
g
°
53
E

352

Robot positioner

Model Brake - Ongm position "2 ——W m INP: NPN

50 to 300 1K: Tm PN: PNP

U: Space-saving model Nete 1 | [B: With brake Z Non-motor side| |H: With plate (50mm pitch) | |3K: 3m ICC: CC-Link
(motor installed on top) 5K: 5m IDN: DeviceNet™
10K: 10m EP: EtherNet/IP™
PT: PROFINET

Note 4. The robot cable is flexible and resists bending. (GW: No /O board

Note 1. See P.337 for grease gun nozzles.

Note 2. When “2mm lead” is selected, the origin position
cannot be changed (to non-motor side).

Note 3. If changing from the origin position at the time of
purchase, the machine reference amount must be
reset. For details, refer to the manual.

M Basic specifications ] Speed vs. payload

Note 5. See P.600 for DIN rail mounting bracket.
Note 6. Select this selection when using the gateway

function.

SH |

[SH: TS-SH INP: NPN IB: With battery
IPN: PNP (Absolute)
ICC: CC-Link N: None
IDN: DeviceNet™ (Incremental)

EP: EtherNet/IP™
Toto.r _ 42 [] Step motor BT PROFINET
ion (Pulse/rotation) 20480 50 IGW: No I/0 boardhes
Repeatability (mm) +/-0.02 |- Lead 2
Deceleration h Ball screw $8 [Ballscrew 10 40 L SD 1
Ball screw lead (mm) 12 6 2 gao \ Lead 6
Maximum speed " (mm/sec) | 500 250 80 k] \ /0 cable
Maximum  [Horizontal] 25 40 45 S20 S Lead 12— SD: T5-SD i 1m
payload (kg) [ Vertical| 4 1 24 € 1 \
Stroke (mm) 50 to 300 (50pitch) 0 \ . Runnmg life
Lost motion 0.1mm or less 0 100 200 300 400 500 600 5000 km on models other than shown below.
Rotating backlash (°) +/-0.05 Speed (mm/s) Running life of only the model shown below becomes shorter than 5000 km
Overall length [Horizontal Stroke+263 Vertical depending on the payload, so check the running life curve.
(mm) Vertical Stroke*303 %0 [ Vertical
Maximum outside dimension 25 ——lead2 ——— £6000 6000
of body cro: tion (mm) W48 x H58 —~ \ ead 5000 = 3000
Cable length (m) Standard: 1/0ption: 3,5, 10 22 | 23000 s
Note 1. The maximum speed needs to be changed in § 15 Lead 6 émon 519
accordance with the payload. % 10 N 0 5 10 15 20 25 Payload (kg) 0 1 2 3 4 5 Payload(kg)
See the “Speed vs. payload” graph shown on the right. Qg \ Lead 12 Note. See P.337 for running life distance to life time conversion
For details, see P. 336. example.
Additionally, when the stroke is long, the maximum 0 0 100 zomoo 500 600
speed is decreased due to the critical speed of the ball
Screw. Speed (mm/s)
Sszi;hneorp?h)grgl:arcvisrfeed table shown at the lower Controller | Operation method Controller | Operation method
P 9: TS-S2 1/0 point trace / TS-SD Pulse train control
TS-SH Remote command
s f N
SRD04 Straight model @&»
Effective stroke+100.5
45
A ofo [ e —— N =
‘ P ]
w
,3 ~|
E == ©
Ball screw 2 8-M5x0.8
greasing port - Depth 12
(96.5) I = i (For user tool | 4.M5x0.8
67.5 _ installation) drill-through
= 126 (For main unit
105 _22 30 30 __ 30 /
| TR o5 2P
e — E—— e B I = T ——@@—— s
- - %)
0
M4x0.7 Depth 5 95 L © L1(T-slot range) T-slotfor M3|_ 25
(For securing cable) L 4 locations) ~ 105
| L+40 (with brake) | Effective stroke || gin on 135
Option: Horizontal installation plate (foot) nﬁgtén gtor side  M4x0.7 Depth 5 9.5
* Contents of option: Plate, 2 pcs., Nut, 12 pcs. (For securing cable)
See our robot manuals for additional settings. 2.4
é = B -
= 1 3
| g M3x0.5
| =l Dimensions of attached
square nut for T-slot (6 pcs.)  Details of T-slot View A
20 Installed within the T-slot range of the main unit.
2;%-_6\ 10— Hex. socket head cap bolt (M3x0.5), Length under head 10
* Six bolts are required for one plate.
— Note 1.Itis possible to apply only the axial load.
— Use the external guide together so that any radial load is not applied to
Fo) Effective stroke 50 | 100 | 150 | 200 | 250 | 300 the rod.
-A Note 2.For lead 2mm specifications, the origin on the non-motor side cannot be
R L1 162.5|212.5|262.5|312.5|362.5|412.5 set.
5K L 270.5|320.5|370.5(420.5|470.5|520.5 Note 3.When running the cables, secure cables so that any load is not applied
= - Note 6 to them.
=t | Weight (kg) 2.0 2.4 2.7 3.0 3.3 37 Note 4.Remove the M4 hex. socket head cap set bolts and use them to secure
@ Maximum |Lead 12 500 440 | 320 the cables. (Effective screw thread depth 5)
— || speed for each Note 5.The cable’s minimum bend radius is R30.
stroke Lead 6 250 220 160 Note 6.Models with a brake will be 0.2kg heavier.
- (mm/sec) |Lead2 80 72 53  Note 7.Distance to mechanical stopper.
L L

TS-S2 » 592[ TS-SH » 592 TS-SD » 602]




SRD04 Space-saving model (motor installed on top)

* Contents of option: Plate, 2 pcs., Nut, 12 pcs. M4x0.7 Depth &
See our robot manuals for additional settings. (For securing cable)
il =
4 5
it T
— ¥
)
iy 8
[l e 1 le5 12 i
Installed within the T-slot range of the main unit. Approx. 245 (Cable length) L 42.5+-2_ Effective stroke (5(N$>te 8))
(Hex. socket head cap bolt (M3x0.5), (7(Note 8)) | Origin on Originon
Length under head 10) | motor side | | non-motor side (Note 9)
o : = e
Six bolts are required for one plate.
1 — —
20 —— | i e e
2-¢6.6 10 e —
drill-through e = | b ©
T I I B — igf =1
T === nI g
— ln’l\ - = j;,i,i S By S s S
AN O N~ e ] -
= =
p=
IR 45 05 22
— Effective stroke+100.5 565 1
= 152 (with brake) 48 8-M5x0.8

21 Depth 12
(For user tool

() installation)
© 4-M5x0.8
~ drill-through
(For main unit

8 ! S installation)
rons \ \ 3%
I LDF’ R . | ol v
@ | 0 E["’ Y
e i | & :
0 ‘ ﬁef 5 675 Ball screw greasing|  T-slot for M3
< 44 ote . - port (¢6.5) (4 locations)
45 Mdx0.7 Depth 5 95 L1(T-slot range) 105
(For securing cable) 95 126
TE M3x0.5 Miox1.25 17, 6 135
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 SA 24
1 162.5]212.5|262.5|312.5[362.5| 412.5 EYJ' & @ ﬁ%%‘
L 209.5|259.5|309.5 | 359.5|409.5|459.5 m[ - 5871
f Note 7 © I Di of attached Detail of Dimensions of
Weight (kg) 22 | 26 | 29 | 32 | 35 | 39 ~ square nut for T-slot (6pcs) ~ section B attached nut
Maximum |Lead 12 500 440 | 320 Note 3.Use th \ quide together to maintain the straight
d f h ote 3.Use the support guide together to maintain the straightness.
speestr:;eeac Lead 6 250 220 160 Note 4.When running the cables, secure cables so that any load is not applied to them.
(mm/sec) Lead 2 80 72 53 Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the cables. (Effective screw thread depth 5)
Note 6.The cable’s minimum bend radius is R30.
Note 1.1t is possible to apply only the axial load. Note 7. M_odels with a brake_will be 0.2kg heavier.
Use the external guide together so that any radial load is not applied to the rod. Note 8.Distance to mechanical stopper. _
Note 2. The orientation of the width across flat part is undefined to the base surface. Note 9.For lead 2mm specifications, the origin on the non-motor side cannot be set.

TS-S2 » 592[TS-SH » 592 TS-SD » 602 353




SRO5 e

@ CE compliance @ Origin on the non-motor side is selectable: Lead 6, 12
1K: 1m

m Brake i Origin position ***2 & Bracket plate [
S: Straight model N: With no brake| |N: Standard Note3 :
R:Space-saving model Not ! \B: With brake |Z: Non-motor side| |H: Wil 3K: 3m ICC: CC-Link

(motor installed on right) V: With flange 5K: 5m IDN: DeviceNet™

Cable length et

L: Space-saving model Note ! 10K: 10m EP: EtherNet/IP™
(motor installed on left) ROFINET

Note 1. See P.337 for grease gun nozzles. Note 4. The robot cable is flexible and resists bending. IGW: No I/0 board"¢|
Note 2. When “2mm lead” is selected, the origin position ~ Note 5. See P.600 for DIN rail mounting bracket.

cannot be changed (to non-motor side). Note 6. Select this selection when using the gateway r SH | H |
Note 3. If changing from the origin position at the time of function.

purchase, the machine reference amount must be 1/0 '

reset. For details, refer to the manual. [SH: TS-SH NP: NPN B: With battery

IPN: PNP (Absolute)

M Basic specifications M Speed vs. payload o oanaT lomontal)

Motor 56 ] Step motor. [ Horizontal ] %
Resolution (Pulse/rotation) 20480 70 Toad 2 IGW: No /0 board™ee|
Repeatability (mm) +/-0.02 __60 -
Deceleration mechanism Ball screw $12 D50 \___Lead6 L SD 1
Ball screw lead (mm) 12 6 2 = 40 N lead 12
Maximum speed o=!(mmisec) | 300 150 50 Sa0 N\ Robot driver 1I0 cable
Maximum _ [Horizontal] 50 55 60 5o Ny M H
payload (kg) | Vertical| 10 20 30 = |
Max. pressing force (N) 250 550 900 o |
Stroke (mm) 50 to 300 (50pitch) 0 50 100 150 200 250 300 350 | | Running life
Lost motion 0.1mm or less Speed (mm/s)
Rotating backlash (°) +-1.0 Vertical 5000 km on models other than shown below.
Overall length[Horizontal Stroke+276 35 Running life of only the model shown below becomes shorter than 5000 km
(mm) [ Vertical Stroke+316 = 30 —\> Lead 2 depending on the payload, so check the running life curve.
Maximum outside dimension £25 6000
of body cross-section (mm) W56.4 x HT1 520 —\V Lead 6 §5000
Cable length (m) Standard: 1/ Option: 3, 5, 10 3; 15 N < 1000 N\

;é Note 1. The maximumv speed needs to be changed in & 10 S Llead12 33000 \

E g g accordagce with the payloasi. . 5 \ g 2000 \

@ 5‘§ See the lSpeed vs. payload” graph shown on the right. 0 050100 150 200 250 300 350 05:1000

= g_ 8 For details, see P. 336. Speed (mm/s) 0

Qs 0 5 10 15 20 25 30

Payload (kg)

" " Note. See P.337 for running life distance to life time conversion
Motor installation (Space-saving model example.

Motor installed on right Motor installed on left
Controller | Operation method Controller | Operation method
TS-S2 1/0 point trace / TS-SD Pulse train control
TS-SH Remote command
SR05 Straight model @
i
See Note 7. 9.5 78 Ball screw greasing port M4x0.7 D? th 5 9.5
2 (06.5) (For securing cable)

Ras

o -~ e ,

Cable length) 10) 35.5 \ .
M4x0.7 Dfepth 5 10 24 ‘ View A S 17 (Width across flat)
= (For securing cable) 9.5 (Width across flat part) <

M12x1.25

' 0|
NH ol e —
| 8 - (Note 5) 4-M5x0.8 Depth 10 17
95 2= Li(T-slotrange)  |Originon Origin on (90°-equal division) TWan
motor side non-motor side T-slot for M4 across flat)
L+40 (with brake) 45.5+/-2 |Effective stroke | \(Note 4) (8 locations)

7 19, M12x1.25

Option: Horizontal installation plate (foot) Option: Vertical installation plate (flange) %% M4x0.7
* Contents of option: Plate, 2 pcs., Nut, 8 pcs. Hex. socket head cap bolt (M5x0.8), %'\ = 0 g

See our robot manuals for additional settings. Length under head 14 } gﬁ; B o) <. >

w 4

F- 4 ol H 104 4 Dimensions of attached - Y

EEIEE - | e |1 1 | square nut for T-slot (6 pes.) Details of T-slot  Dimensions of attached nut
: A
%%1 J g@& o) Effective stroke| 50 | 100 | 150 | 200 | 250 | 300
o / 70 L1 183 | 233 | 283 | 333 | 383 | 433
4-06.6 83
066 20 oo L__80 | L 280.5|330.5|380.5|430.5 | 480.5 | 530.5
1 Installed within the T-slot range of the - Note 10
_ﬂ main unit Weight (kg) "*"| 2.2 | 26 | 3.0 | 3.3 | 3.7 | 41

Hex. socket head cap bolt (M4x0.7),
Length under head 12

* Four bolts are required for one plate.

Note 1.Itis possible to apply only the axial load.

Use the external guide together so that any radial load is not applied to the rod.
Note 2.The orientation of the width across flat part is undefined to the base surface.
Note 3.Use the support guide together to maintain the straightness.
Note 4.For lead 2mm specifications, the origin on the non-motor side cannot be set.

= E Note 5.When the lead is 2mm, this dimension is 27mm.

= = Note 6.When running the cables, secure cables so that any load is not applied to them.
Note 7. Remove the M4 hex. socket head cap set bolts and use them to secure the cables. (Effective screw thread depth 5)
Note 8.The cable’s minimum bend radius is R30.
Note 9. Take great care as the outer case of the motor projects from the bottom of the main unit.
Note 10.Models with a brake will be 0.2kg heavier.
Note 11.Distance to mechanical stopper.

68
1801
i

w354 TS-S2» 592 TS-SH » 592 TS-SD » 602




SR05 Space-saving model (motor installed on right)

Approx. 245 (Cable length) L 45.5+-2__Effective stroke (5(Note 8 Note 12))  M4x0.7 > 82
146 (with brake) TNote3) a@ @
e,
r 1 _LfJ Origin on . Dimensions of attached
L‘T— 7 moor side| | Originon square nut for T-slot (6 pcs.)
ffffff -t Tﬁ‘ —[\\non-motor side (Note 9) ——————————
Lt .
- }_ ,,,,, _J Ball screw greasing
h - port (6.5) Mi2x125 19 7
w ~
T o
P I N | 5 e — @3 ,,,,,,, —
(40) (24) Detail of section B Di ions of
(Al 285 70 attached nut
j’“ 78 4-M5x0.8 Depth 10 T Tlotfor VA
= See Note 5. (90°-equal division) (ésigcag(r)ns)
(a2l f— | Dbt A
1 95 L1(T-slot range) E=Ii] 950
,,,,, Slg k )
[IN—— g/ & 7 (1Y |
= p M12x1.25 @)
s jiil®
w0 D & — i 1 - _ I TRl
ke 5 4 88 Q)] iyl AN\ PE T
_ L] = 95 ol S0 g &
= i I T
1275 g b | o5 (Width across flat part)|
= 10[ 24 | 17
5 5 . : M4x0.7 Depth 5 Width flat) 30
Option: Horizontal installation plate (foot) (For securing cable) 05 :\gi:zgcer?r?éhcgble) o) 355 (Width across flat) > 564
* Contents of option: Plate, 2 pcs., Nut, 8 pcs. -
See our robot manuals for additional settings. o—
Effective stroke| 50 | 100 | 150 | 200 | 250 | 300
w0
al - L1 183 | 233 | 283 | 333 | 383 | 433
L 227.5|277.5|327.5|377.5|427.5|477.5
~_H Weight (kg) "*°7| 2.4 | 28 | 3.2 | 35 | 39 | 43
[ ‘ Note 1.1t is possible to apply only the axial load.

(Hex. socket head cap bolt (M4x0.7),
Length under head 12)

* Four bolts are required for one plate

SR05

M4x0.7 Depth 5
95_(For securing cable)

18 0.7(Note 11)

Installed within the T-slot range of the main unit Option: Vertical installation plate (ﬂange)

Hex. socket head cap bolt (M5x0.8),

Length under head 14
i &)

Use the external guide together so that any radial load is not applied to the rod.
Note 2. The orientation of the width across flat part is undefined to the base surface.
Note 3.Use the support guide together to maintain the straightness.
Note 4. When running the cables, secure cables so that any load is not applied to them.
Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the
cables. (Effective screw thread depth 5)

4-¢6.6 drill-through

Space-saving model (motor installed on left)

A
See @95

L1(T-slot range)

Note 6.The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

Note 9.For lead 2mm specifications, the origin on the non-motor side cannot be set.

Note 10.This unit can be installed with the motor facing up (turned 90 degrees from
the position in this drawing).

Note 11.Take great care as the outer case of the motor and cover belt projects from
the bottom of the main unit.

Note 12.When the lead is 2mm, this dimension is 27mm.

Note 5.

—h

M4x0.7

:

i
bt
oaL—f—

B
)
EEY

? . Dimensions of attached
Origin on Origin on square nut for T-slot (6 pcs.)
= motor side |\ non-motor side (Note 9)  —
View A I3, Mi2x125 19 7
Ea— 43 o
|5 = a
&)
Detail of section B Dii ions of
Approx. 245 (Cable length) 146 (with brake) (7(Note 8) attached nut _
L 45.5+-2 Effective stroke (5(Note 8,Note 12))
40 L24), - T-slot for M4
— = (8 locations)
g BB S m‘o"% (8 locations)
N | % | B g =258
) = M12x1.25 ) o PED
) I I JE I D S | L 2 ~ g ﬂ PonY N B olwn
© W ™|
: - B\ €
T E—" N R @1 O SHFHolBenl
1275 M4x0.7 Depth 5 9.5 ‘ ‘
95 °p! : 56.4 17
Width
—— (For securing cable) 10| 24 #Iatl parta)oross AM5X0E De:p}h 10 30 %\g\/t\)d&h across
* Contents of option: Plate, 2 pcs., Nut, 8 pcs. (10) 355 (90°-equal division) 55
See our robot manuals for additional settings. o
oﬁ'Pf— Effective stroke| 50 | 100 | 150 | 200 | 250 | 300
L1 183 | 233 | 283 | 333 | 383 | 433
3@5 S L 227.5|277.5|327.5|377.5| 427.5 | 477.5
N Weight (kg) “°7| 2.4 | 28 | 32 | 35 | 39 | 43
oN

g (Hex. socket head cap bolt (M4x0.7),
grﬁll?t-l?rough ‘—‘2(1)0 Length under head 12)
- our bolts are required for one plate.
* Four bol ired f |
)

TS-S2 > 592 TS-SH » 592 TS-SD » 602

Installed within the T-slot range of the main unit.

Hex. socket head cap bolt (M5x0.8),
Length under head 14

Note 1.1t is possible to apply only the axial load.

Use the external guide together so that any radial load is not applied to the rod.
Note 2. The orientation of the width across flat part is undefined to the base surface.
Note 3.Use the support guide together to maintain the straightness.

Note 4.When running the cables, secure cables so that any load is not applied to them.

Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the
cables. (Effective screw thread depth 5)

Note 6. The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

Bl

Note 9.For lead 2mm specifications, the origin on the non-motor side cannot be set.
Note 10.This unit can be installed with the motor facing up (turned 90 degrees from the
position in this drawing).

Note 11.Take great care as the outer case of the motor and cover belt projects from the
bottom of the main unit.
Note 12.When the lead is 2 mm, this dimension is 27 mm.

355




8 Orderin:

SRDO5-

SRD05-S

$2

Brake

N: With no brake|

U: Space-saving model Note t

|B: with brake

Bl Origin position "2 B Bracket plate fod Bl Cable length Mot
N: Standard M3 | [N:Noplate | [50 to 300 1K: 1m
Z: Non-motor side| |H: With plate (50mm pitch) | [3K: 3m

Robot positioner
[52: TS-S2 Notes

-
x

g \
.“ LY

INP: NPN

PN: PNP

(motor installed on top)

Note 1. See P.337 for grease gun nozzles.

Note 2. When “2mm lead” is selected, the origin position

cannot be changed (to non-motor side).

Note 3. If changing from the origin position at the time of
purchase, the machine reference amount must be

reset. For details, refer to the manual.

M Basic specifications M Speed vs. payload

Note 4. The robot cable is flexible and resists bending.
Note 5. See P.600 for DIN rail mounting bracket.
Note 6. Select this selection when using the gateway

function.

ICC: CC-Link

5K: 5m

IDN: DeviceNet™

10K: 10m

EP: EtherNet/IP™

PT: PROFINET

IGW:

No I/O boarde:o

SH |

[SH: TS-SH INP: NPN IB: With battery
IPN: PNP (Absolute)
ICC: CC-Link N: None
IDN: DeviceNet™ (Incremental)

Motor 56 [] Step motor [ Horizontal ] g? Eg]gg;ﬁg!: -
Resolution (Pulse/rotation) 20480 70 Load 2 GW: No 1/0 board"e®
o % 60
Repeatability (mm) +/-0.02 _ \ Lead 6 L SD 1
Deceleration mechanism Ball screw ¢12 ER N
Ball screw lead (mm) 12 6 2 g 40 \Lead 12— 1/0 cable
Note 1 \ S 30 ISD: TS-SD 1: 1m
M: speed " (mm/sec) | 300 150 50 % 2 N
Maximum Horizontal| 50 55 60 o 0 | B Running life
payload (kg) Vertical| 85 | 185 28.5 |
Max. pressing force (N) 250 550 900 0 5000 km on models other than shown below.
-P 9 - 0 50 100 150 200 250 300 350 Running life of only the model shown below becomes shorter than 5000 km
Stroke (mm) 50 to 300 (50pitch) Varical Speed (mmis) depending on the payload, so check the running life curve.
Lost motion 0.1mm or less E 6000
Vertical
Rotating backlash (°) +-0.05 %0 < 5000
Overall length | Horizontal Stroke+276 . % Lead2 :—‘; gggg N
;'é (mm) Vertical Stroke+316 22 £ 2000
= ? g Maximum outside dimension W56.4 x H71 E 15 Lead 6 — 05: 1000
L3 of body cross-section (mm) > 10 \c 0 0 035 30
i
2 g_ & Cable length (m) Standard: 1/ Option: 3, 5, 10 a 5 i Lead 12 Payload (kg)
O Note 1. The maximum speed needs to be changed in o \\ Note. See P.337 for running life distance to life time conversion example.
Soo the~Speed vs. payioad: RNl O Controller |
See the “Speed vs. payload” graph shown on the right. Speed (mm/s)
For details, see P. 336. Controller | Operation method Controller | Operation method
TS-S2 1/0 point trace / TS-SD Pulse train control
TS-SH Remote command
SRDO5 Straight model @
Effective stroke+107
47
—Tou |
See Note 5. ? %J "eE ’’’’’ —  TH T
It 0]
o) iTel %
- = -+ — 00— . + —|
-— | | o
w
Ball screw
greasing port E Mt 0
- X1
(06:5) Depth 15
78 L] (For user tool
Approx. 250 (Cable length) - installation)
| 147
4-M6x1.0
[T — M4x0.7 Depth 5 105 24 40 40 40 drill-through
( ] / (For securing cable) (— (For main unit
: = . @) instalat
= 1 14/] ) T L
<~ i | N o= " © ©
3 T 1L [TEE—— - = m— = | B @f—@ — &89
b 070 4% & L § - & &
sie 4 NS - ol o
: | 8 5 !
9.5 ‘ o2 L1(T-slot range) Origin on EN)ote 3)| | Toslotfor M4 (&,‘
L motor side (4 locations) 130
L+40 (with brake) 45.5+/-2 |Effective stroke | 157 |
Option: Horizontal installation plate (foot) Origin on non-motor side (Note 2) 5 M4x0.7 I?epth 5
. N (For securing cable)
Contents of option: Plate, 2 pcs., Nut, 8 pcs.
See our robot manuals for additional settings. %% M4x0.7 73 54/ ks
N B 5 i T =
S o ©) © & e e
# ﬁ N Q%& 7y N Dimensions of attached 4
| - square nut for T-slot (6 pcs.)  Details of T-slot (2:1) )
m o A Vewh
80

Installed within the T-slot range of the main unit.

Hex. socket head cap bolt (M4x0.7), Length under head 12

* Four bolts are required for one plate.

356

Effective stroke | 50 | 100 | 150 | 200 | 250 | 300
1 183 | 233 | 283 | 333 | 383 | 433
L 280.5|330.5|380.5|430.5 | 480.5|530.5

Weight (kg)"*® | 31 | 36 | 41 | 45 | 50 | 55

Note 1.1t is possible to apply only the axial load.

Use the external guide together so that any radial load is not applied to the rod.
Note 2.For lead 2mm specifications, the origin on the non-motor side cannot be set.

Note 3.When the lead is 2mm, this dimension is 27mm.

Note 4.When running the cables, secure cables so that any load is not applied to them.
Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the cables.

(Effective screw thread depth 5)
Note 6.The cable’s minimum bend radius is R30.

Note 7. Take great care as the outer case of the motor projects from the bottom of the main

unit.
Note 8.Models with a brake will be 0.2kg heavier.
Note 9.Distance to mechanical stopper.

TS-S2 » 592[ TS-SH » 592 TS-SD » 602]




SRD05 Space-saving model (motor installed on top)

Approx. 245 (Cable length) L 45542 Effective stroke  (5(Note 8,Note 11))
(7(Note 8)) Originon | | Origin on
= motor side | | non-motor side (Note 9)
A — — ==
M4x0.7 Depth 5 3 [ ——F —-—-
(For securing cable) o
.5 e o
2 HI — ©
o i |
HT ] o~
o
= =
S F——F
View A © — |
I L
N =
. 47 105 24 70.9
146 (with brake .
( ! Effective stroke +107 56.4 8-M6x1.0
‘ 106 Depth 15
| I — (For user tool
| & © o installation)
} ,,,,,, B4 5| [ 4-M6x1.0
Ca . drill-through
! | Ballscrew greasing © ) (For maingunit
) ‘ b - port (¢6.5) o installation)
1 ~
o i 1 C—e) Eg)‘)
V7 | 7 S — — @ | ——- | ) @& olg| 1wl
‘ s P - & %w & F| < 10|
" S ! K 2 ° < H@ © ©
g | g [ L] S| o ] ®
T T e~
56.5 See Note 5. 8 T-slot for M4 330 S
] (4 locations) §
40 40 40 <
* Contents of option: Plate, 2 pcs., Nut, 8 pcs. ~ M4x0.7 Depth 5 95 32 130
See our robot manuals for additional settings. ~ (For securing cable) 2. M4x0.7 ~ 147
222

(275) 95

zb Installed within the T-slot range of the main unit.
2-06.6 (Hex. socket head cap bolt (M4x0.7),
drill-through FO_ Length under head 12)
)

* Four bolts are required for one plate.

Dimensions of attached

square nut for T-slot (6 pcs.) Detail of section B
Effective stroke| 50 100 | 150 | 200 | 250 | 300
L1 183 | 233 | 283 | 333 | 383 | 433
L 227.5|277.5|327.5|377.5|427.5| 4775
Weight (kg) “°’| 3.3 | 38 | 43 | 47 | 52 | 57

Note 1.1t is possible to apply only the axial load.

Use the external guide together so that any radial load

is not applied to the rod.
Note 2.The orientation of the width across flat part is
undefined to the base surface.

Note 3.Use the support guide together to maintain the straightness.
Note 4.When running the cables, secure cables so that any

load is not applied to them.

Note 5.Remove the M4 hex. socket head cap set bolts and use
them to secure the cables. (Effective screw thread depth 5)

Note 6.The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

Note 9.For lead 2mm specifications, the origin on the non-

motor side cannot be set.

Note 10.Take great care as the outer case of the cover belt
projects from the bottom of the main unit.

Note 11. When the lead is 2 mm, this dimension is 27 mm.

TS-S2 > 592 TS-SH » 592 TS-SD » 602

357





